Description

Description

2.5" Torca Couplers

Rubber Hanger |solators

2.5" Torca Band Clamps

3/8 x 1" Bolts

Left Side Aft-Muffler Hanger

3/8 Flanged Nuts

Right Side Aft-Muffler Hanger

o]
[S11eT Fe] o) N o4
<

1/4" x 3/4" Bolts

Left Side Tailpipe Hanger

1/4” Nuts

o
alalalalo|Mol=
<

Right Side Tailpipe Hanger




